Codledd € %\aflms (Ccvd!\muﬁ“)

Eﬂ\"* T = st +5 (D)Chase L vadicad Yo isoled

—h _'5

(9*55 (T5eqT (@S b sids
(%T\EX)(%*\B;O = Hx+Y @ %‘im()b'hﬁ\%

4 3 Bx+ R Bx 5% = byt
o L}m + 9% = hx+4 @ |solate e .
IC

(emofmin% (o

L5 (naxt ea@@

L |

C



ﬁ*‘u—%; * :"5><+j

X X
45{ :%X ——s ¥ Rewa or divide looVh
S .. odas W pussiole
(& E)i@() @ S%\Aam bbb sides

L&(??X\ = Xl @ S'fm ?u;\j O)Sb\\ff ?or X

ey —7 ]SO\OLlrQ X

! L Yax ad@ic —7 mMake
51 X~ fhx —=6CF v e%“’:’o%%’ffw
§=x(x-(3) oot d



LS | RS
x| AR +5
7+30) | Jort 5

By =Jy +5
=\ 2

@ Cheds In or‘fos'\’mi eiualdm

LS | RS

iR ISt +5

TR | BH *5

73 [ et ¥
Tk | 377
=13 / =15



EXaA% Solve {7 '+ (23 =Y
\odate V2 “52,(,-—77
‘ ¢n




(=32 |
(w@( (+6) = (@% (e 5)







